May, 2022
Dear Parents/Guardians,

The attached math enrichment packet is meant to provide your child with a review
of material he/she learned in 5th grade. Your child is expected to turn the
completed packet into Coach Reeves (6th grade) on the first day of the
2022-2023 school year. Please encourage your child to schedule time throughout
the summer to work on the packet and not wait until the end of summer to begin.

Reminders for your child:
¢ Read and follow all directions
¢ Show work (in an organized manner & # each problem) for ANY/ALL
problems to receive full credit. You will turn this paper in with the
completed packet.

Have a great summer!






Name

Place-Value Match

Lesson 1.2
Enrich

Match the standard form of the number given in Column A with either

the word form or the expanded form of the number in Column B.

10.
11.
12,
13.

14.

Column A
900,000
8,000,000
30,000,000
2,000,000
100,000
5,000,000
60,000,000
7,000,000
800,000
300,000
1,000,000
50,000,000
600,000,000

3,000,000

Column B

thirty million

5 X 1,000,000

six hundred million
eight hundred thousand
9 X 100,000

three million

sixty million

2 X 1,000,000

5 X 10,000,000

3 X 100,000

seven million

one hundred thousand
one million

eight million

15. MWriteMath - Fxplain the method you used to match the standard

form of a number to either its word form or its expanded form.

Chapter Resources
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Lesson 1.4
Name Reteach

Algebra * Powers of 10 and Exponents

T A Sk TP A

You can represent repeated factors with a base and an exponent.

Write 10 x 10 X 10 X 10 x 10 x 10 in exponent form.
10 is the repeated factor, so 10 is the base.
The base is repeated 6 times, so 6 is the exponent. 108 — exponent
10 X 10 X 10 X 10 x 10 x 10 = 10°
base
A base with an exponent can be written in words.
Write 10° in words,
The exponent 6 means “the sixth power.”

10° in words is “the sixth power of ten.”

You can read 10? in two ways: “ten squared” or “the second power of ten.”

You can also read 10° in two ways: “ten cubed” or “the third power of ten”

Write in exponent form and in word form.
1. 1010 x 10X 10X 10X 10 X 10

exponentform: — word form:
2. 10 X 10 <10
exponentform: — word form:

3. 10x10Xx10X10X10

exponent form: —— word form:

Find the value.
4. 104 5 2 x10° 6., B x 10°

Chapter Resources 1-27 Reteach
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Name

Lesson 2.2
Reteach

Divide by 1-Digit Divisors

28 FTTIORL AL B A T T S e

Divide. 4)757

Step 1 Estimate with
compatible numbers to
decide where to place the
first digit.

757 - 4
\
800 ~ 4 = 200

The first digit of the quotient
is in the hundreds place.

So, 757 ~ 4is 189 1.

Divide, Check your answer.

1. 8/136

a. 7)4,973

Chapler Resources
= Houghton Hifltin Harcourt Pubtishing Company

Step 2 Divide.

189 r1
4}757
—4f

35
32

37
36
1

2. 71297

5, 3)741

2-7

You can use compatible numbers to help you place the first digit
in the quotient. Then you can divide and check your answer.

Step 3 Check your answer.

189 <— quotient
X 4 =« divisor
756
+ 1 «— remainder
757 «— dividend

Since 189 is close to the estimate of 200, the answer is reasonable.

3. 5)8,126

6. 71456

Reteach




Lesson 2.6
Name Reteach

Divide by 2-Digit Divisors

When you divide by a 2-digit divisor, you can use estimation to help
you place the first digit in the quotient. Then you can divide.

Divide. 53}2,369

Step 1 Use compatible numbers to estimate the quotient. Then use
the estimate to place the first digit in the quotient.

40
50/2,000 The first digit will be in the tens place.
Step 2 Divide the tens.
Think:
4 Divide: 236 tens + 53
53)2,369 Multiply: 53 x 4 tens = 212 tens
- 212 Subtract: 236 tens — 212 tens

24
Compare: 24 = 53, so the first digit of the

quotient is reasonable.

Step 3 Bring down the 9 ones.
Then divide the ones.

B T Think:
44 737
532 TG Divide: 249 ones + 53
2y2) Multiply: 53 < 4 ones = 212 ones
265 Subtract: 249 ones — 212 ones

' 21_1‘3 Compare: 37 < 53, so the second digit of the

37 quotient is reasonable.
So, 2,369 + 53 is 44 +37. Write the remainder to the right of the whole

number part of the quotient.

Divide. Check your answer.

1. 52)612 2, 63)917 3. 89}1,597
4, 43)641 5, 27)4,684 6. 64;8,455
Chapter Resources 2-15 Reteach
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Lesson 3.5
Name Reteach

Decimal Addition

.
You can use decimal models to help you add decimals.

Add. 1.25 + 0.85

Step 1 Shade squares to represent 1.25.

Remember:
Since there are only 75 squares
left in the second model, you need to
add another whole model for the
remaining 10 squares.

Step 2 Shade additional squares to
represent adding 0.85.

Step 3 Count the total number of shaded squares. :
There are 2 whole squares and 10 one-hundredths i
squares shaded. So, 2.10 wholes in all are shaded.

So, 1.25 ~ 0.85 = _2.10

Add. Use decimal models. Draw a picture
to show your work.

1. 2.1 + 0.59 2, 14 + 0.22

3. 127 + 1156 4. 0.81 + 043

Chapter Resources 3-13 Reteach
@ Houghton Mifllin Harcourt Pubtishing Company



Name

Decimal Subtraction

Lesson 3.6
Reteach

e 1 p

You can use decimal models to help you subtract decimals.

Subtract. .85 — 0.65

Step 1 Shade squares to represent 1.85.

Remember:

shaded squares to represent
subtracting 0.65.

Step 3 Count the shaded squares that are not crossed out.
Altogether, 1 whole square and 20 one-hundredths
squares, or 1.20 wholes, are NOT crossed out.

So. 1.85 — 0.65 = _i-20_

v

Subtract. Use decimal models. Draw a picture
to show your work.

1. 1.4 — 0.61 2. 16 — 1.08

Step 2 Circle and cross out 85 of the By circling and crossing out shaded
squares, you can see how many

squares are taken away, or subtracted.

3. 084 - 017 4. 1.39 — 1.14

Chapler Resources 3-15
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. Lesson 3.8
Name Reteach

Add Decimals

e -y ey

Add. 4.17 + 9.8
Step 1 Estimate the sum.
417 + 9.8

v

Estimate: 4 + 10 = 14

Step 2 Line up the place values for each number in a piace-value chart.

Then add.
Ones Tenths Hundredths
i & 7
+] 9 e 8
f i ~—SUMm

Step 3 Use your estimate to determine if your answer is reasonable.
Think: 13.97 is ciose to the estimate, 14. The answer is reasonable.

So,4.17 + 9.8

Estimate. Then find the sum,

1. Estimate: 2, Estimate: ____ 3. Estimate:
1.20 1.52 12.25
+ G.S_{l + 1.21 + 11.25

4, Estimate: 5. Estimate: 6. Estimate:

10.75 2265 34.41

+1.11 + 18.01 + 1537
Chapter Resources 3-19 Reteach
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Lesson 4.3
Name Reteach

Multiplication with Decimals and
Whole Numbers

To find the product of a one-digit whole number and a decimal,
multiply as you would multiply whole numbers. To find the
number of decimal places in the product, add the number

of decimal places in the factors,

To multiply 6 x 4.25, multiply as you would multiply 6 x 425,

Step 1 Step 2 Step 3
Multiply the ones. Multiply the tens. Multiply the hundreds. Then place
3 2 the decimal point in the product.
425 425 s .
X 6 X 6 4.25<«— £ decimal places
0 50 X 6-+«— + 1} decimal places
2550 «— 2 decimal places

;‘\r:: is-.‘ e
So, 6 x 4.25 = £3. 09U

ot R L AL e e e 4 e . . " pre - o

Place the decimal point in the product,

1. 8.23 Think: The place 2. 6.3 3. 16.82
X 6 value of %4 e 5
4938 the decimal 5 575 8410
factor is
hundredths.

Find the product.

4., 519 5. 7.2 6. 37.46
* 3 = 8 i 7

Chapler Resources 4-9 Reteach
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Lesson 4.4
Name Reteach

Multiply Using Expanded Form

— .
You can use a mode! and partial products to help you find the product
of a two-digit whole number and a decimal.
Find the product. 13 x 6.8
o]
; Step 1 Draw a large rectangle. Label its longer side 19 6.8
and its shorter side 2% The area of the large o 08
rectangle represents the product, i3 X B
Area = 10X 6 ’.
Step 2 Rewrite the factors in expanded form. Divide " \
the large rectangle into four smaller rectangles.
Use the expanded forms to label the smaller rectangles. 13
-_j ! o r’} i) Fa 3
j 13 = :Ij + z 6.8 = ta N t}qé
! . 3
Step 3 Mulitiply to find the area of each small rectangle.
f““fﬂ 1." - | Y 3
i 10><6=___‘“j 10x08=_1% IX6=_1% 3x0.8 = At
Step 4 Add to find the total area.
LS
i So, 13 X 6.8 =30
Draw a model to find the product.
1. 18 X025~ 2,26 X72 =
Find the product.
3. 17 X093 =, 4. 21X435=___ 5 48 x474
Chapter Resources 4-11 Reteach
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Lesson 5.3

Name Reteach
Estimate Quotients
You can use multiples and compatible numbers to estimate
decimal quotients.
Estimate. 249.7 =+ 31
Step 1 Round the divisor, 31, to the nearest 10.
31 rounded to the nearest 10 is 59,
Step 2 Find the multiples of 30 that the dividend, 249.7, is between.
249.7 is between 240 gng 270
Step 3 Divide each multiple by the rounded divisor, 30.
240 +30=_58_ 270+30=_2
So, two possible estimates are _7_ and _2__ {
j
Use compatible numbers to estimate the quotient.
1. 236 + 7 2. 4694 + 62
Estimate the quotient.
3. 338.7 + 49 4, 75.1 + 9 5. 6748 + 23
6. 619 + 7 7. 96.5 + 19 8. 572 + 8
Chapler Resources 5-9 Reteach

& Moughtan Mitflin Harcouet Publishing Compaay



Lesson 6.2

Name Reteach

Subtraction with Unlike
Denominators

You can use fraction strips to help you subtract fractions with unlike
denominators. Trade fraction strips of fractions with unlike denominators
for equivalent strips of fractions with like denominators.

Use fraction strips to find the difference. Write your answer in
simplest form.
1_ 1

2 1

Step 1  Use a  fraction strip to |
model the first fraction.

Step2  Trade the } strip for
five 75 strips.
Lol e 1
2 10 10

Step3  Subtract by taking ; _%Sj‘ﬁ

away 5.
5 _ 1 N
10 10
1 1= , o
So, 5790 iy Written in simplest form,

Use fraction strips to find the difference. Write your answer in
simplest form.

T ] 2 1 5 1

g 2 373 6 3

11 el 2 5

*273 > 10 5 &3 12
Chapter Resources 6-7 Reteach
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Lesson 6.6
Name Releach

Add and Subtract Mixed Numbers

e -

When you add or subtract mixed numbers, you may need to
rename the fractions as fractions with a common denominator.

Find the sum. Write the answer in simplest form. 55 + 21

Step1  Model 55 and 21,

| i | [ } | |

| | 3 I

Step2 A common denominator for § and § is 12,
3 9 1 4
so rename 53 as 535 and 27 as 245,

. , . | = RnRanG
. r relig ]
Step 3  Add the fractions.
212 12
Step 4  Add the whole numbers
540 =7
E Add the sums. Write the answer in simplest form.
i e Il
l So, 52 + 2l = 8,
T4 T3 1
Find the sum or difference. Write your answer in simplest form.
2 1 5 3 7 5 3 1
.22 4 4= . + . Lo g . A
1 29 46 2 106 54 3 118 96 4 185 142
Chapter Resources 6-15 Reteach
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Lesson 7.6

TSNP

Name Reteach
Fraction Multiplication
To multiply fractions, you can multiply the numerators, then multiply the
denominators. Write the product in simplest form.
iply, 3 x4
Multiply. 10 X 5
Step 1 Multiply the numerators. Multipiy the denominators.
3 ,4_ 3x4
1 5 10x5
=12
50
Step 2 Write the product in simplest form.
12 _ 12 =2
50 502
3 x4 S
So, 10 P4 5 is -
Find the product. Write the product in simplest form
3y 1 4.5 3 4.5
1.4x5 2.?,<2 3'8\{ 4.5><8
1 3 5 S .3
5.3.\4 6.4><8 ?.8>< 8.6><8
hapter Resources 7-15 Refeach
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Name

Divide Fractions and Whole Numbers

Lesson 8.1
Reteach

- 1
Divide. 6 = >
Step 1 Draw a number line from 0O to 6. Divide

the number line into halves. Label each half
on your number line, starting with 1.

go from O to 6. So the quotient is 12.

6~:—%= 12 because 12 x1=s.

PO

. 1.
Dwu:ie.2 = 5

Step 1 Place a ! strip under a 1-whole strip.

Step 2 Find 5 fraction strips, all with the same
denominator, that fit exactly under the % strip.

g

Each part is i!’ of the whole.
1

Step 3 Record and check the guotient.

R !
= 5= 10 pecause 100 x5=

1 1
2 2

Divide. Draw a number line or use fraction strips.

1, 1+ 5 o 2, 2= 3
1. n_ 1.5 _
« — = 5- - —
4 5 3 3 2
Chapter Resources 8-5

© Houghton Mifllin Harcourt Publishing Company

]

You can use a number line to help you divide a whole number by a fraction.

2 345 6 7 8 9100112

Step 2 Skip count by halves from 0 to 6 to find 6 = ]

Step 3 Count the number of skips. It takes 12 skips to

You can use fraction strips to divide a fraction by a whole number.

A R R et or e PRy 1S T PR Lt T

~T T 1 1 11 1 1 &7 f7fr71™
01 141 251 3,31 4,1 5¢ §
2 13 22 32 42 52
é.
= m Ry A AT TN R T TV B RWET P ICATE € LM AT AN S
1
3. 4+ - =
4
.1
6. 4=
5
Reteach



Lesson Y.z
Reteach

Name

Ordered Pairs

it

A coordinate grid is like a sheet of graph paper bordered at the left
and at the bottom by two perpendicular number lines. The x-axis is
the horizontal number line at the bottom of the grid. The y-axis is the
vertical number line on the left side of the grid.

An ordered pair is a pair of numbers that describes the location of a
point on the grid. An ordered pair contains two coordinates, x and Y.
The x-coordinate is the first number in the ordered pair, and

the y-coordinate is the second number.

(x,y) ——> (10, 4)

.
-

Plot and label (10, 4) on the coordinate grid.

)

To graph an ordered pair:
*+ Start at the origin, (0, 0).

Think: The letter x comes before y in the alphabet.
Move across the x-axis first.

-
y-axis

10, 4)
9

e

* The x-coordinate is 10, so move 10 units right.

— MW BN 00O

* The y-coordinate is 4, so move 4 units up.

Plot and label the ordered pair (10, 4). . e
1 123 4567 8 9170
X-axis

- o e A

(e}

L.
-

Use the coordinate grid to write an ordered pair for
the given point.

1. 6 2. H e e

3. S pmeae 4, K svopes oz -

y-axis

Plot and label the points on the coordinate grid.

5 A(1,06) 6. B(1,9)

“NwhuooNoo g =
."--.

12345678 910N
X-axis

7. C(3.7) 8. D(5,5)

o

9. £(9, 3) 10. F(6,2)

Chapler Resources 9-7 Reteach
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Name

Lesson 10.1
Reteach

Customary Length

You can convert one customary unit of length to another
customary unit of length by multiplying or dividing. Customary Units
Multiply to ch f arg I its of | h e
i 0 1 I 1
ultiply to change from larger to smaller units of lengt 1 foot (ft) = 12 inches (in.)
Divide to change from smaller to larger units of length. 1 yard (yd) = 3 feet
1 mile (mi) = 5,280 feet
Convert 3 feet to inches. 1 mile = 1,760 yards
Step 1 Step 2 Step 3
Decide: Think: Multiply.
or Divide 3x12 =36
1ft=12in., so
feet —> inches 3ft=3x_12)in.
larger —» smaller
So, 3feet = 3% inches.
Convert 363 feet to yards.
Step 1 Step 2 Step 3
Decide: Think: Divide.
Multi Icw(!InD 4y
Py 3ft=1yd, 363+ 3 =121
feet —> yards s0 363 ft = (363 ~ < )yd.
smaller — larger
So, 363 feet = 121 yards.
Convert.
1. 33yd = __ft 2. 300 mi = _yd 3.46in. = ____ft in.
4, 96 yd - ft 5. 481t =__ yd 6. 2mMi20yd = __ __vd
Compare. Write <, >, or =,
7. 2yd () 7 ft 8. 67 mil 1117,920yd 9. 250 yd {f "} 800 ft
- o L
a ol . . £y
10.14yd2ft<;:>1ﬁf1 11. 34 ft10in.{  )518in. 12. 5mi8ft{ 8,800 yd
" M A
Chapter Resources 10-5 Releach
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Name

Lesson 0.2
Reteach

Customary Capac

ity

mTvL e YR

another by multiplying or div

Convert 8 cups to quarts.

Step 1

Decide:

Multiply or
cups — quarts
smaller — larger
So, 8 cups = £ quarts.

. Step 1
Decide:
or Divide

i
+ gallons — quarts
~ larger  —> smaller

So, 19 gallons = /L quarts.

-

Convert.
1. 14 pt = gt
4, 28 c= pt

Compare. Write <, >, or =.

@

S 60 ¢

7. 16 qt

10. 36 qt () 54¢

Chapter Resources
= Houghton Mifflin Harcourt Publishing Company

You can convert one unit of customary capacity to

Muitiply to change from larger to smailer units.
Divide to change from smaller to larger units.

iding.

Customary Units of Capacity

1 cup (c) = 8 fluid ounces (fl 0z)
1 pint (pt) = 2 cups
1 quart (gqt) = 2 pints
1 quart = 4 cups
1 gallon = 4 quarts

Step 2

Think:

4c=1qt, .
so8c = (8 +£i‘)qt.

Convert 19 gallons to quarts.

Step 2
Think:

1 gal = 4 qt, .
so 19 gal =(19 x 71 yqt

2. 32t =

5. 9 gal -

N
8 88floz\ /11c

11. 66 ﬂoz(_)gc

10-7

Step 3

Divide.

8+4=2

Step 3

Muitiply.

19 x4 =178 ;
{
!:

C 3. 7¢c= floz

qt 6. 16c= qt

P
9. 3 gar(\ ) 10 gt
~
12. 16 gal (/f 64 gt
Releach



Name

Lessen 10.3
Reteach

Weight

You can convert one customary unit of weight to
another by multiplying or dividing.

Multiply to change from larger to smailer units.

Divide to change from smaller to larger units.

Step 1
Decide:

Multiply or Qivid®

ounces —*» pounds
smaller — larger

So, 96 ounces = § pounds.

Step 1
Decide:
: (Muttiplpor Divide

pounds —» ounces
larger — smaller

So, 4 pounds = ﬁ_@ ounces.

Convert.
1. dlb=_.__ oz
4. 7lb=_____ oz

Compare, Write <, >, or =,

7. 1 TQ 3,000 Ib
10. 3 TQ 6,000 Ib

Chapter Resources
& Heughton Miftlin Harcourt Publishing Company

Convert 96 ounces to pounds.

Step 2
Think:

16oz=11b 3
309602=(96+___u§ﬁ ) Ib.

Convert 4 pounds to ounces.

Step 2
Think:

3¢

1lb =16 oz, _‘
s04dlb =(4 X b

o

2. 12,0001b

5. 221b =

£ \\ﬁ
8. 31b \__/ 43 oz

Ty
1. 61b{ )96 0z

10-9

Customary Units of Weight

1 pound (Ib} = 16 ounces (0z)
1 ton (T) = 2,000 pounds

) 0z.

074

Step 3
Divide.

96 ﬁ-:igé = gﬁ

Step 3
Multiply.

4x 15 = 84

6. 160z=_____ _Ib

9. 5 TO 10,000 Ib
12, 16TQ 6,400 Ib

Reteach




. Lesson 11.1
Name Reteach
Polygons

A polygon is a closed plane figure formed by . )
three or more line segments that meet at points Polygon Sides | Angles | Vertices
called vertices. You can classify a polygon Triangle 3 3 3
by the number of sides and the number of
angles that it has. Quadrilateral 4 4 4
Congruent figures have the same size and Pentagon 5 5 5
shape. In a regular polygon, all sides are H
exagan 6 b 6
congruent and all angles are congruent.
. H 7 7
Classify the polygon below. e ’
Octagon 8 8 8
Nonagon 9 g 9
Decagon 10 10 10
5 girleg
How many sides does this polygon have? _= =1 des
How many angles does this polygon have? w BVIHIEE
Py a5 rz'.:,;.,_ 1
Name the poiygon. :"?}‘-wv t ] !.l:./{_:{:,:l{} i H
s i
Are all the sides congruent? i f
_— §
Are all the angles congruent? R i
So, the polygon above is a pentagon. it is not a regular polygon.
Name each polygon. Then teil whether it is a regular polygon
or not a regular polygon.
2 T .
1. ¢ . 3 y 4 N
T @]
u
s P
13 F
R Q
S R 1 144
Chapfer Resources 11-5 Releach
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Lesson 11.2
Name Reteach

Triangles

o s =y

You can classify triangles by the length of their sides and
by the measure of their angles. Classify each triangle.

Use a ruler to measure the side lengths. Use the corner of a sheet of
paper to classify the angles.

* acute triangle
All three angles are acute.

* equilateral triangle
All sides are the same

length.
* isosceles triangle ' * obtuse triangle
Two sides are the same NG One angle is obtuse. The
length. ‘ ’ other two angles are acute.
* scalene triangle * right triangle
All sides are different One angle is right. The other
lengths. R two angles are acute.
Classify the triangle according to its side lengths. N

It has two congruent 5|des
The iriangle is an Isoscelss rjangls

Classify the triangle according to its angle measures.
It has one right angle.
Tne trigngle is & right triangis,

oo o e S s W 3 e SASP

fomi ezt a0 et o X

Classify each triangle. Write isosceles, scalene, or equilateral.

Then write acute, obtuse, or right.
3. 10m
=} | 4m
10m

5in.

15 mi

Chapter Resources 11-7 Reteach
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